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Suppose that ’lcl_r.l"lz f(x) = L, then f(x) is a continuous function. '_‘:- ») Pn%;.b[(j L\‘:’z&‘(\(\ #—9(9-)

If the limit of a function at x = a does not exist then the function has a jump discontinuity at x = a. {: Cou.sl;d %
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Random Problems
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25. If the function f is continuous for all real numbers

andif f(x) = -{:—%when x # 3, then f(3) must C
equal what? J
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26. For what value(s) of ¢ does lim+ f(x) =
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27. State and justify all discontinuities. 28,

Graph of f
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31. Let f be the piecewise function defined below. 32.
Find the value of xl}gl_ f)
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The graph of a function f is shown below. If
chl_l;ll‘l’ f (x) does not exists but f(b) exists then b must

equal what?

Graph of f
Let
2
(_.X'—'*‘S_x;té’ _4Sx<._.1
x+2
g(x)=43-x%, -1<x<2
-3, 2<x<4

Identify all discontinuities.
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The table below gives selected values and limits of
the functions f, g, and h. What is
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35. Isthe function
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continuous at x = 7? Justify your reasoning.

34.

36.

Use the table to find the followmg I|m|ts

X -0.3 -0.2 0.1 0

7,008

fix) | 7.018 | 7.008 | 7.002 undefined | 7.002

glx) | 4.126 | 4.789 | 4.989 8 8.0015

h(x) | 4971 | 8987 | 9972 | 9 8.997
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Let f be the function defined below, wherecisa
constant
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a. Find the value of c, if any, that makes the function
continuous at x = —1.
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b. What type of discontinuity does g have atx = 2?
Give a reason for your answer.
An god)= 2-(3%= -1 O X
> ~=contin
R’ P Y ';CO\L_'}“’?

\M 3&3-— -—/q/ ’l—(i
\}:m gd # &;’*\_‘3&34 [im QO(

c. Find all vertical and horizontal asymptotes of the
graph of




